R#FTAE #FH ROOHBEDE 01

RD o X (SHh208, A30F%, BH50F, CH17 308 )
(1) ~4=15HEbH 2
(2) 83+7= - HEDG6
(3) 113+ =6-HEDL5
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RD ok (SH208, A30F, BHK50F, CH15 308 )

(1) ~6=12--HFEDH3
(2) 91+4= - HED3
(3) 151+ =9 HEH7T
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RSIFR b UH ROOBZEOE 01 RERH

RD o0& (SH20F, AR30F, BRS0R, C#k15730%)
(D ~4=15-HEH 2
*XRHDH2HHEDWE

A+~ B = C - D
& A= B x C 4+ D

+4=15"HED 2

=4 x 15 + 2

= 60 + 2
62
(2) 83=7= - HEDG
*EZHDOHLZ2bHEOWE
A=~ B =C - D
& A = B x C 4+ D
83+ 7= HEDG6
83 =17 x +6
KR EOEPNTHHES.
(83—-6)+7=11
(3) 113+ =6--HEDH5
*XRKHDHBHLHHEDNE
A=+~ B =C - D
& A = B x C + D
113 = =6 HEDH

113 = X 6+5

KR EDODEPVTHLEH S,
(113 —5) =6 =18
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KD ok (SH208, A30F, BHK50F, CH15 308 )

(1) ~6=12--HFEDH3

*XRKHDHBHLHHEDNE
A+ B =0C D
& A = B x C 4+ D

+6=12" HED 3

= 6 x 12 + 3
72 + 3
75

(2) 91+4= - BHED3

*XRKHDHBHLHHEDWE
A+ B =2C D
& A = B x C + D

91 -4 = - HED 3
91 =4 x +3

KR EPDODEPVTHLEH S,
(91 —3) ~4 =22

(3) 151+ =9--HEhH7
*RODODHZbHEDOHE
A+~ B =C - D
& A = B x C + D
151 = =9--HEDhT
151 = X9+7

KRDZDZVWTHhHEHES.
(151 —7)+9 =16
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